
� 1 of 4

Retrofit Electric Lock Kit for U30 Control and OPUS Control
Instruction Sheet

P/N C-00326  Rev 11-17-20

NABCO Entrances Inc. S82 W18717 Gemini Drive Muskego, Wisconsin 53150
Phone:  (877) 622-2694   Fax:  (888) 679-3319   www.nabcoentrances.com

NABCO hours of Operation:  Monday to Friday  8:00 a.m.- 4:30 p.m. (Central Time) 

1175 Electric Lock
Fail Secure: P/N A-00342
Fail Safe: P/N A-00341

T-Nut
P/N A-00686

DN 2379

Latchbolt
P/N A-00264

SERVICE PARTS: KIT 
U30 FAIL SAFE, P/N A
00688
U30 FAIL SECURE, P/N A
00689

Whizlock Nut
P/N T-00025

Screw
P/N T-00116

Attention: Electric Locks can not prevent Breakout. If preventing Breakout is deemed necessary, panic hardware 
must be fitted to the Door Panels.

CHAPTER 1: INSTALL LATCHBOLT TO BELT BRACKET

1/4-20 x .75” 
Whizlock ScrewDN 2380

8-32 x .375”
Screw1/4-20 x .75” 

Whizlock Screw

Back of
Belt Bracket

Front of
Belt Bracket

Belt Clip

Belt

Belt Bracket

Figure 1 Install Latchbolt to Belt Bracket

Note: Save 1/4-20 x 3/4 inch Whizlock Screws for reinstallation.
1. Remove (2) 1/4-20 x 3/4 inch Whizlock Screws to release the Belt Clip from the Belt Bracket. 

a.	 Keep the Belt Clip on the Belt to ensure belt tension.
2. Remove (2) 1/4-20 x 3/4 inch Whizlock Screws to release the Belt Bracket from the Carrier.
3. Secure the Latchbolt to the back of Belt Bracket with (2) 8-32 x 3/8 inch Screws.
4. Turn the Belt Bracket so the Latchbolt is facing inside the Header. 
5. Secure the Belt Bracket to the Carrier with saved screws.
6. Secure the Belt Bracket to the Belt Clip with saved screws.                                  

CHAPTER 2: INSTALL THE ELECTRIC LOCK

DN 0738

Insert (2) 3/8-16 x .75”
T-Bolts into Channel

Turn T-Bolt Clockwise 
to Lock into Channel

Electric Lock

3/8-16 Whizlock Nuts

Figure 2 Insert Socket Head Cap Screws into Channel



 2 of 4�

Retrofit Electric Lock Kit for U30 Control and OPUS Control� www.NabcoEntrances.com

P/N C-00326� Rev 11-17-20

1. Go between the Control and the Idler Pulley. Insert (2) 8 -16 x 3/4 inch T-Bolts into the Header Channel. 
2. Turn each T-Bolt clockwise so it does not fall out. 
3. Obtain the Electric Lock. 
4. Ensure the Terminal Strip on the Electric Lock is facing the Pivot side of Header. 
5. Loosely secure the Electric Lock to the T-Bolts with (2) 3/8-16 Whizlock nuts.

DN 1876

Terminal Strip

PIVOT SIDE OF DOOR

Flat Side of Latch

Figure 3 Position the Electric Lock 

6. Slide the Electric Lock through the Header Channel until the Strike (located on the outside face of Electric Lock) is next to the 
Flat side of Latch (protruding from the Belt Bracket). 
a.	 Ensure there is a slight gap between the Strike and Flat side of Latch.

DN 0642

Slight Gap
(Between Strike Wall and Flat of
Latch in Full Close Posi� on)

StrikeLatch

Figure 4 Ensure Terminal Strip is Facing Pivot Side of Slide Door

7. If installed correctly, the Electric Lock should be approximately:
  X Single Slide Door:

•  11-11/16 inches from the Strike End Cap of Header in fully open position.
  X Bi-Part Slide Door:

•  8-5/16 inches from the Strike edge of Slide door in fully closed position.

DN 2382

8-5/16”

11-11/16”

Idler Pulley

Terminal StripControl 11-11/16”

Electric Lock
Belt Bracket

Bi-Part Slide Door

Le�  Hand Slide Door (FS view with Access Cover on Outside) Right Hand Slide Door

Strike
Header
End Cap

Direc� on Slide Door Opens Direc� on Slide Door Opens

Direc� on Slide Door Opens Direc� on Slide Door Opens

Terminal Strip (Faces Pivot side of Door S� le)

Figure 5 Check locations of Latch and Belt Clip



�  3 of 4

www.NabcoEntrances.com� Retrofit Electric Lock Kit for U30 Control and OPUS Control

Rev 11-17-20� P/N C-00326

CHAPTER 3: WIRING FOR OPUS WITH 1175 ELECTRIC LOCK
Attention: Electric Lock only works in Night mode or One Way Mode.

DN
 2

28
6

ON

OF
F

OF
F

3 
SE

C

OU
TP

UT
 T

IM
ER

OU
TP

UT
 S

IG
NA

L

AC
TI

VA
TI

ON
 S

IG
NA

L

OP
EN

IN
G

FU
LL

Y 
CL

OS
ED

FU
LL

 O
PE

N CL
OS

IN
G

FU
LL

Y 
CL

OS
ED

ON

OP
US

 E
LE

CT
RI

C 
ST

RI
KE

 O
UT

PU
T 

SI
GN

AL
RO

CK
ER

 S
W

IT
CH

 S
ET

TI
NG

: O
NE

 W
AY

 O
R 

NI
GH

T 
M

OD
E

RE
LA

Y 
OU

TP
UT

 3
: E

LE
CT

RI
C 

ST
RI

KE
 LO

CK
OU

TP
UT

 T
IM

ER
: .

1,
 .5

, 1
.5

 se
co

nd
s

OP
US

 A
ss

em
bl

y
Si

ng
le

: P
/N

 A
-0

14
18

Te
le

sc
op

ic:
 P

/N
 A

-0
14

20

GR
EE

N 
(G

ro
un

d)

Po
w

er
 S

w
itc

h

OP
US

 P
ow

er
 C

on
ne

ct
or

Gr
ee

n

W
hi

te

Black

11
75

 O
PU

S
El

ec
tr

ic 
Lo

ck
Ha

rn
es

s S
et

P/
N 

M
-0

20
44

Fa
il 

Se
cu

re
 W

iri
ng

 sh
ow

n
Fa

il 
Sa

fe
 =

 G
re

y W
ire

 g
oe

s t
o 

N.
C.

 Te
rm

in
al

Fa
il 

Se
cu

re
 Lo

ck
 A

ss
em

bl
y

P/
N 

A-
00

34
2

Fa
il 

Sa
fe

 Lo
ck

 A
ss

em
bl

y
P/

N 
A-

00
34

1

OU
TP

UT
 S

ET
TI

NG

W
hi

te
Bl

ac
k

BL
AC

K 
(H

ot
)

W
HI

TE
 (N

eu
tra

l)

Re
la

y 
Ou

tp
ut

 3

Grey (Out B)

Violet

GR
EE

N 
(G

ro
un

d)

BL
AC

K 
(H

ot
)

W
HI

TE
 (N

eu
tra

l)

Re
la

y 
Ou

tp
ut

 3

I/O
 Te

rm
in

al
 8

-1
4

I/O
 Te

rm
in

al
 1

-7

Po
w

er
 S

w
itc

h

COM N.O.



 4 of 4�

Retrofit Electric Lock Kit for U30 Control and OPUS Control� www.NabcoEntrances.com

P/N C-00326� Rev 11-17-20

CHAPTER 4: WIRING FOR U30 WITH 1175 ELECTRIC LOCK
Attention: Electric Lock only works in Night mode or One Way Mode.

AC
TI

VA
TI

O
N

 S
IG

N
AL

O
U

TP
U

T 
SI

G
N

AL FU
LL

Y 
C

LO
SE

DO
PE

N
IN

G

FU
LL

 O
PE

N

C
LO

SI
N

G

O
U

TP
U

T:
 0

 =
 E

LE
C

TR
IC

 S
TR

IK
E 

O
U

TP
U

T

O
U

TP
U

T 
TI

M
ER

0 
 =

(D
O

 N
O

T 
U

SE
)

1 
 =

(D
O

 N
O

T 
U

SE
)

2 
 =

(D
O

 N
O

T 
U

SE
)

3 
 =

EL
EC

TR
IC

 S
TR

IK
E 

FU
N

C
TI

O
N

U
30

 E
LE

C
TR

IC
 S

TR
IK

E 
O

U
TP

U
T 

SI
G

N
AL

H
AN

D
Y 

TE
R

M
IN

AL
: A

U
X 

O
U

TP
U

T 
= 

0,
 O

U
TP

U
T 

TI
M

ER
 =

 3
,  

R
O

C
KE

R
 S

W
IT

C
H

 S
ET

TI
N

G
: O

N
E

 W
AY

 O
R

 N
IG

H
T 

M
O

D
E

O
U

TP
U

T 
TI

M
ER

1.
0 

SE
C

3 
SE

C

O
N

O
N

O
FF

O
FF

FU
LL

Y 
C

LO
SE

D

DN
 2

38
3

Fa
il 

Se
cu

re
 Lo

ck
 A

ss
em

bl
y

P/
N 

A-
00

34
2

Fa
il 

Sa
fe

 Lo
ck

 A
ss

em
bl

y
P/

N 
A-

00
34

1

11 66

111
0V10
V

NO
TE

: L
OC

K 
W

OR
KS

 O
NL

Y 
IN

 N
IG

HT
 M

OD
E 

AN
D 

ON
E 

W
AY

 M
OD

E

5
6

12 13 14 15 16

Se
qu

en
tia

l A
cti

va
tio

n
SQ

Au
xil

iar
y O

utp
ut 

(O
pe

n-
Co

lle
cto

r)
OU

T
5A

ma
x.(

0-
20

V)
, 3

.2A
ma

x.(
20

-3
0V

)
30

V(
42

.4V
pe

ak
)m

ax
.

Co
nta

ct 
Ou

tpu
t (

Cl
as

s2
 Lo

ad
 on

ly)

Co
mm

on
N/

C
N/

O
OU

T.A
OU

T.B
OU

T.C

12
VD

C-
(C

om
mo

n)
7

FU
NC

TI
ON

 [S
LID

IN
G 

DO
OR

]
SY

MB
OL

No
.

Re
du

ce
d O

pe
nin

g S
wi

tch

1110987654321

Br
ea

ko
ut 

De
tec

tor
Si

de
lite

 P
re

se
nc

e S
en

so
r

Ex
ter

ior
 A

cti
va

tio
n

BA62 SL
S

M
1

H M0

Ho
ldi

ng
 B

ea
m

Int
er

ior
 A

cti
va

tio
n

12
VD

C-
(C

om
mo

n)
12

VD
C+

6B9D
C1

2V
7 61

Mo
de

 S
wi

tch
 (s

ee
 M

od
e S

W
 U

sa
ge

 sh
ow

n l
eft

)HA
ND

Y 
TE

RM
IN

AL
6P

RELATED DEVICES16P

To
 p

ro
te

ct 
ag

ain
st 

ris
k o

f
fir

e
or

 e
lec

tri
c s

ho
ck

,u
se

 o
nly

 th
e 

ce
rti

fie
d 

NA
BC

O 
po

we
r s

up
ply

.

W
AR

NI
NG

N
o.

ER
RO

R

PO
WE

R

BA62H6B61

INDICATORS POWER2P

Do
 n

ot
 d

isa
ss

em
ble

 th
e 

co
nt

ro
l b

ox
.

Th
er

e 
ar

e 
no

 u
se

r s
er

vic
ea

ble
 p

ar
ts 

ins
ide

.

To
 m

ai
nt

ai
n 

wa
rra

nt
y,r

ep
ai

rs
 m

us
t b

e 
m

ad
e 

by
 a

ut
ho

riz
ed

 N
AB

CO
 fa

cil
itie

s.

CA
UT

IO
N

Ad
jus

tm
en

ts 
to

 th
e 

do
or

 ca
n 

on
ly 

be
 m

ad
e

wi
th

 th
e 

NA
BC

O 
Ha

nd
y T

er
m

ina
l.Mo

de
 S

W
 U

sa
ge

Gn
d

Gn
d

Gn
d

Op
en

Op
en

Op
en

Gn
d

Op
enM0

M
1

MO
DE

TW
O 

WA
Y

ON
E W

AY

NI
GH

T
HO

LD
 O

PE
N

24
89

01
-  

M
icr

op
ro

ce
ss

or
 C

on
tro

lle
r

20VAC 50/60Hz

G
Y

R
O

 T
E

C
H

0
71

2 3 4 5
6

7

8910

11
12

NN
A
B

A
B
COCO

G
YR

O
TE

C
H

D
S-

15
D

24
-1

13
27

0

N
ab
te
sc
o
C
or
po
ra
tio
n

MA
DE

IN
JA

PA
N

>POM<

00

N
A
BC

O

N
A
B
CO

AC IN

DC OUT

G
re

en
 (G

ro
un

d)
W

hi
te

 (N
eu

tra
l)

Bl
ac

k 
(H

ot)
U3

0 
M

icr
op

ro
ce

ss
or

 C
on

tro
l

P/
N 

V-
00

02
0

M
ot

or
/O

pe
ra

to
r

P/
N 

A-
00

39
5

Po
w

er
 S

up
pl

y
P/

N 
V-

00
02

9

FA
IL

SE
CU

RE

N0
.

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

FU
NC

TI
ON

 (S
LI

DI
NG

 D
OO

R)
7S

YM
BO

L
N0

.
12

 V
DC

+
9D

C 
12

V
1

12
VD

C-
(C

OM
M

ON
)

7
2

IN
TE

RI
OR

 A
CT

IV
AT

IO
N

61
3

HO
LD

IN
G 

BE
AM

6B
4

RE
DU

CE
D 

OP
EN

IN
G 

SW
IT

CH
H

5
M

od
e 

Sw
itc

h 
(s

ee
 M

od
e 

SW
 U

sa
ge

 sh
ow

n 
le

� )
M

0
6

M
1

7
Ex

te
rio

r A
c�

 v
a�

 o
n

62
8

Se
qu

en
� a

l A
c�

 v
a�

 o
n

SQ
9

Br
ea

ko
ut

 D
et

ec
to

r
BA

10
Si

de
lit

e 
Pr

es
en

ce
 S

en
so

r
SL

S
11

Co
nt

ac
t O

ut
pu

t (
Cl

as
s 2

 lo
ad

 o
nl

y)
N/

O
OU

T 
A

12
30

V 
(4

2.
4V

 p
ea

k)
m

ax
.

N/
C

OU
T 

B
13

5A
 m

ax
 (0

-2
0V

), 
3.

2A
 m

ax
. (

20
-3

0V
)

Co
m

m
on

OU
T 

C
14

Au
xil

ia
ry

 O
ut

pu
t (

Op
en

-C
ol

le
ct

or
)

OU
T

15
12

 D
C 

- C
om

m
on

7
16

RELATED DEVICES - 16P

La
be

l o
n 

U3
0 

Co
nt

ro
l

Te
rm

in
al

 o
n 

U3
0 

Co
nt

ro
l

P/
N 

V-
00

41
0 

Bl
ac

k
W

hi
te

Gr
ay

Vi
ol

et

Gr
ay

 (O
ut

 A
)

Vi
ol

et
Fa

il 
Se

cu
re

 W
iri

ng
 S

ho
w

n
Fa

il 
Sa

fe
 =

 G
ra

y 
(O

UT
 B

) w
ire

 g
oe

s i
nt

o 
Te

rm
in

al
 1

3


